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1. Draw a model. Then write the numerical expressions
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2. Write the numerical expressions in words,

Fiﬁrmluﬂ Words The Value of the |
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a. 12x(5+125)

b, [62-12)
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3. Compare the two expressions using >, <, or =, In the space beneath each pair of expressions, explain how
yOu can comipare without calculating. Draw a model if it helps vou.
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. Mr. Huynh wrote the sum of 7 fifteens aond 38 fifteens on the board,

\ispsis)- - - [is) }? (TX15) + (38X15)
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. Two students wrote the 1ollowing numerical expressions.
Angeline: (7 + 15) = (38 + 15)

Meiling: 15 (7 + 38)

Are the students’ antwers eguivalent to your answer in part [a)? Explain your answer.
P‘qh"“ﬁ answer was equivalent fo my answer, but not Meiling's,
Meiling’s expression showed 1S fimes the sum of T and 39,

. A box contains 24 oranges. Mr. Lee ordered 8 boxes for his store and 12 boxes for his restaurant,
A, Write an expression to show how to find the total number of oranges ordered.

(24%8) + (24X [2) ok Z4x(§+12) ok (24X20)

b. MNext week, Mr. Lee will both double the number of boxes he orders. Write a new expression to
represent the number of oranges in next week's order.

émxs}ﬂz#xtz;)xz oR  (24x20) X2

t. Evaluate your expression from part b to find the total nember of oranges ordered in both weeks.

Week 1: (24 X20) = 480 *‘? g

Week 2: (24%20)X2 = 960

Mr. Lee ordered 1440 oranges in both weekKs.



